U5 Day 2 Group Work Filled.notebook November 05, 2019

HW 5 - 1 Answers. Join my G.Classrm: uj27d9

1. 3(x2-2)(x +7) 2. (By +7)(2x + 3)

3. (X+9)(x2-2) 4. (4x-1)(x+7)

5. -9(2x + 3) 6. (3x +4)(2x - 3)

7. (4x + 1)(2x - 3) 8. (X-5)(x+ 1)(x-2)2

9. 5-x)(25+5x+x2) 10. (2y2- 3)(4y* + 6y +9)

Oct 28-7:27 PM

Factor each of the following:
1, 3x3+2Dx2 - bx - 42 2. 10xy + 14x + 15y + 21
= AX(X+7) - b(X+7) =2%(5y+7)+ 3(5Y+7)
- Bx*- )X+ 7) = (5y+7)(2X+3)

= 3(x%-2)(X+7
3. x3+9x2-2x-18 4. (8x-1)(3x+2)- (4x-1)(2x-5)
EXQ(XM)—Z(XM) = (4x-|>(3x+2—(2><—5>>

s (x+9)(X*-2) = (4x=1)(3X+2-2X+3)

= (Ux=1) (X +7)

Oct 22-4:37 PM
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| p--72
5. (2x+ (x-4)‘-L(2x+ (x +5) 6. 6x% - x - 12 .-s:'q"?‘
= (2%+3 (XII%(T?S)) - b= Ax+8x-12"
= 2x+3)(X-9~%-5) = 3x(2x-3)+4(2x-3)
=-q(2x+3) = (2x-3)(3x~+4)
pi-2¢
7. 8x2-10x-3 S:=|0 8. (x%-4x)?-(x%-4x)-20
-12,2 Let u= x*=9Yx
= ¥NAZ=12X+2%X -3 u*-u-20
< Uy (2X=3)+1(2X-3) = (U-2DU+H)
= (ZX“-S)(Q'X-" D (&2_4)( _5) {XZ_ U x—+ LD
x-S+ (X-2)(x-2
= (x=3) X+ (x~-2)
Oct 22-4:38 PM
9. 125-x3 10, 8y-27 a = \’7@7
r=95 a=2y

b= b=§
(5~>><(>(25+5><+><2) (2y-3) (P 0y +9)

(23‘-’3)@3‘5’“{-@1 49 )
Qg3 Yy + by +9)

Oct 22-4:38 PM
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November 05, 2019

Let's do the last problem from Day 1: ./

Give the funcﬁo@;‘: 4x3 + 2x% + 4x®

Lx)= 0

find the remaining zeros.

Oct 25-2:54 PM

Factor each of the following completely.

Finish for HW any problems you did not complete in class.

(X343 x-4)(X*+3x+2)
= (%2 4)(X=D)(XAD(XH)

Hint: you may need To use substitution To make the question look more familiar.

1. (¢ +3xY-2(x%+3x)-8 2. (¢ -x)P -8 -x)+12
Let u= (X*+3x) Let = (X%-X)
U-2u~g U*-BU+IQ
(U-t)(w+2) (U-6)(n-2)

(X=x-L)XX*X-2)
= (X=3)K+2)(x=2)(X+ D)

Oct 31-7:43 PM
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3. X 3010+ Bk B 4, wuﬂ - 9x
(X2-5Y5x*2)+ Ux(¥?+2) (- AYx&2)+ X(x* 2D
(E2)(X =) = (X29)(*+x+2)
-(><9+2)(><+5)(><~D = (><+3)(x—3)(><2.+ ><+2>

Oct 31-7:44 PM
B, x'+2x -8Bx-16 6. X +2x'-16x°-32
= %3(X+2\)_8(X+2> :XL{(XZ+2\_}@{X2_+2>
= (X+2>{X3_8> - (X2+2>(><4_{(a>
= (x+2)(X-2)(KH2X+4) - (x242) (Re+)(K*-4)
Asige - (YHKHKF2K-2)
X3 8 = (x-2)6H2X+4)
o= X
b=2

Oct 31-7:44 PM
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7. Let x and y be integers such that x* - y' = 48, If x ﬁ 3 and 3xy = 18, what is x* + y’?
0= X 5 ()3 YUt
(X-9)K3u+y")=48
%
3(X+o+y?) =48
= 3

X 0+y=1b
><24%2=IO

Oct 31-7:44 PM

8, If(2x’+bx-10)(x +5)= 2x' + 17x' + 25 - 50 is true for all values of x, what is b?
K (2X4 bY~(D)+ S(2X*bx~10) = 2X>*+17X*+25X=50

o - ) 2 _50
IX3 By% | OX + OX* SHX=30= 2317 X4 25X
~X> +50 - 2% 450

by [0X* =[OX+ DX = |7>§f+25><
—|0%% +/0X - JOX* ) OX
bx*+5bX = TX*+35X

p=7x>  SbX=35X
b=7 b!7

Oct 31-7:44 PM
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9, If(2x+3)(4x*-5x+6)=ax’+bx’+cx+d, what is the value of 2b + ¢?
IX (4X*=5X+1o) +3( = 5X+{)
QU (OX 12X + 12X 15X +[§
§X %4 2X*=3X+I§ 2b+c= 224 (3)
=% ¢=-3 =|
b=2  d=I8
Oct 31-7:45 PM

10. From Alg2CC Regents January 2017
Algebraically determine the values of h and k To correctly complete the identity stated
below:

2x7 - 10x% + 11x - 7 = (x - 4)(2x* + hx + 3) + k
X OX % IX=7 = x(2X*+ hx+3)~ $(2X*hx+3)+HK
WA JOXHH [X~7 = 2K FhX™3X - SXE=Yhx—(2+K
~2%® 2K

SIOCHIXT = b EX e XK

JJOX%E hyxz8x%  1IX=-(hx+3x  —7=-[2tK
~2X*=hx" SX=-4hx 9=K
-2=bh -2 %h

Oct 31-7:45 PM
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11. similar question
Algebraically determine the values of h and k to correctly complete the identity stated
below:

3 -2x -13x+B=(x-2)3x*+hx -5)+ k
Y22 X% 3+ 8= X(BX S hx-5) -2(3#x-5)+K
32X 13X+ §= 3K hx 5X - bX*-Zh X HOHK
“IX%= AhX=0X®  -I13X=-5X-2hx  g=[0+K
2 h - —— _
4= hX EX= 72X 2=k
U< 4 =h

Oct 31-7:46 PM

Nov 5-8:47 PM
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